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SUMMATIVE ASSESSMENT - II (2016-17)
grartster fag / SOCIAL SCIENCE

&l - IX/ Class - IX

frerifta ww= : 3 gue JrfereRan 3iah : 90
Time allowed : 3 hours Maximum Marks : 90
amar= fder
(i) =EwATHFA30 T E | TEw g a2
(i) 9 97 % FHA SEh i fore@ gL E |
(iii) v FHIF 1§ 8 T & TTT TH-Ueh ek & ¢ | 37 S Ueh I16g 3120 Ueh AT H S |
(iv) % ik 9 ¥ 20 T TS T 3 3k F1 T | TTH | TS T A IR 80 Ve § 31ferm T B
T |
(V) 9% Wik 21 § 28 T Toudh U9 5 3ieh 1 8| TTH § Toush T 1 SR 120 Ireat § At
&1 =T |
(vi) 9% AiH 29 R 30 AH{E TR 79 3-3 ofF & HAW: e IR e § €1 sw e

% AE WA Tl ST TR IRAhT o 3T TR a1 ST |

General Instructions :

(i)
(i)
(i)

(iv)

The question paper has 30 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

Questions from serial number 9 to 20 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 29 and 30 are map questions of 3 marks each, from History
and Geography respectively. After completion, attach the maps inside your
answer book.

@< % /SECTION - A

oo Rt TR J1 &E & Hed TEd W §?

Name the two regions the Gujjar Bakarwals move between.

219591/ OR
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HHg! STRTS a1 ¥ed o fmior e 39 fofd <1 yeiifaail <k &1 e 311d 9 2

Which two species of trees were used by the forest department for building ships or railways
?

31gdar/ OR
U H 3TSREdl YAl W @RI &1 hiad i a¢i ?
Why did the price of food grains rise in the 18th century England ?
70 T @ w7 o A &= R geR % 99 9 S| 82
Which type of forests are found in regions having less than 70 cm rainfall ?

T did%h 10 94 ¥ Th HEHRR o U S 943 of Hifh 3G% fUdl sl HEHR h1 R0
M1 1?39 uRfEfq o dern % fhE difde iR 1 SeosE 8 w1 82

A child was forcibly tied with a money lender for ten years as his father owed
repayment of loan to the money lender. Which fundamental right of the child is being
violated. In this situation ?

oAb H HffAferl o Hreaw @ A 1 hiE Th Rl fafEw )

State any one reason for democracies to be representative.

rhae ¥ Aol & Sgad o1 guede Rl ura Bt € 2

Who enjoys the support of the majority of the members in the Lok Sabha ?

fefan Y % st # fava e i veeyl §7?

Why is World Bank important in estimating poverty line ?

‘I T g SN wEhH TR @Rl % fore e s @ R ?

To whom does the NFWP target ?

W H ST ol STEH] o 1T Teh FHE ShRUT ol Seetd hifeq |

Mention one major reason behind huge income inequalities in India.

stafaferes s1a o ATEEE g WA w1 T faRt i wmenstt v st

Explain any three problems faced by the Maasais in the colonial period.
3gaT/ OR

frafrafires e % SR IRAR ST w0 S e gl gR 9 @ T aeer fafag |

Write the problems faced by Indian plantation labourers during the colonial rule.
3gaT/ OR

soie H areEal 9 gU fRgl o ol 1 wg wifse |

Explain any three advantages of enclosures in England.

qi= hiviE AW i A=Al & fh=l o9 RO &l ISIFR HIST

Highlight any three reasons behind the criticism of the Pentangular Tournament.
3Yar/ OR

18 of Tl ¥ Yo =Rq o UgAe T IS Bl T HifSw )

Explain the idea of clothing in Europe before the 18th century ?

SREd! AR & 3IqUS H, fohehe & @ H U fhgl diF d<ardal 1 Sooi@ it

Mention any three changes that occurred in the game of cricket in the second half of the
eighteenth century.
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&1/ OR
L=l Al % HHTS B % GveEr Wt U9 o "SR o H O fRE R R AR
o1 1?7

What differences in the social strata remained in the europian societies even after the
end of sumptuary laws?

TiitfEfaer o % H&qul 8q whis A9 U™ AR

Suggest any three measures to conserve ecosystem.

IRA H THO-TR g 7 JehR TGS 1 qRem 8?2 T S
How has the rural-urban migration resulted urbanization in India. Explain.

“femrer fafay werr w1 aoft genfadt & A Toe B17 39w I SR IR =AE
G 3

“The Himalayas are abode to a variety of animal species”. Justify this statement by
giving examples.

“art gl | eeRl TR @R bt U @ 9 ISR ST T A T[SAAEE i 9 B hg
fean"” wHiferer siferspml o Hewl H 3 w1 ! foer= Hifsw

"Hundreds of innocent people from all over the world were secretly picked up by the US
army and prisoned in Guantanamo Bay" Interpret this act in the light of human rights.

f=1 =1 gftafyg swifsa |

(@ g7

(b) = AfqEH

(0 e w1 sufeerfd
Define the following :

(a) Election

(b) Election Compaign
(c) Voters turn out.

Al H i o 61 gfskan o UsrHifass deensti s gfyent 1 T Sifsu)

Explain the role of political institutions in decision making process in democracy.

el afari & 9t STl 1 HfcAredl o1 FEAT T 9Sdl &, ik £ aFT gl 9 3ifueh
HTSATZT <hT FIHAT T € 1'' He hl TIL FHITSC |

"In poor families all suffer, but some suffer more than others." Explain the statement.
SH-feraeer yomeft 1 avi iy

Describe the Public Distribution System.

‘T HH & Ak AN AT B g faRiaand s off ?

What were the main features of National Food for Work Programme ?

TSR Sehialel M & Ml o Saehidrs o dileh -9 &2 Il =ehld STETSTEl
fore YR Oigw o ufeds g fauifia e @2

What are the livelihood practices of the Gujjar Bakarwals? Explain how the pattern of
their cyclical movement is defined by the changing weather.
3terat/ OR

w

w
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SIS 7 TF-STE] o SATIR okl YA H fhd R fafia foean? smemenife
How did the British regulate forest trade in India ? Explain.

197eT/ OR

=gl ot & oif<am ot o, oTAfem o W & oA ¥ Sekw gfg i gg2 i " &R
fafem)

From the late nineteenth century why was there a dramatic expansion of wheat
production in the USA? Give any five reasons.

ORA ¥ fshere 3 ford YR waw1 foman ? T sifsa)

How did cricket enter India ? Explain.

197eT/ OR

TRIGT hifd = fohd YR WiEE UgAa § agd dagard fohu ? IS0l Higd Tt hifee |

How did the French Revolution bring huge change in clothing in France ? Explain with
examples.

et wfaaifiar i f=l a9 a1t w1 Seo@ Fifsu)

Write any five demerits to have political competition.

‘e weten e % qEd Sl § @ T R0 hd % guedd | a% Sty
“Judicial Review is one of the major roles played by Judiciary.” Support the statement.

s dF g7 Weqa afdae (Meaar 9ged FT Fui Sy |
Describe the Global Poverty Scenario as presented by the World Bank.

A & a9t H S faaor gomelt ¥ firee & fau STErt el &l SR shifsu)

Explain the factor that have led to the decline of the PDS in recent years.

() feu gu wra & qeHifas W@mmfas § A 3R B W 31 & fafea fvd m €1 =
S Tl SRRT o YR W 37 A& bl T8= R AHTEA 5 g fafed W@mell W 370 wal
T fafey :

(A) TF ST fSfest TR 7 3THH F AR W THIHTS FEH F e o)

(B) VIR STEl § USiel % GNI STeTSl ¥ TR k1 <+ Sl ST o |

(b)  <E AEfeE W fEfAlEd S SUgEd Gehd gN <uied T S9! I fafe

(C) <t Fama Sel %M Sl & J9E & 507 3 T8 ot |

e : Fafataa woa e giesnfia udhtenfelal & fau umfes yoa & e w e :

(27.2)

(27.1) TSETE AT & k1 T fafae sl fafesr g & fom stom &t ot St off |
39 91 1 T fafae ST STwm g5 gen ol

(27.3) = H 39 T 1 W fafEe Sl § STEM 1 AR S o

(@)

Two items A and B are shown in the given political outline map of India. Identify

these items with the help of the following information and write their correct names in

the map.

(A)  The state where the British government had established a monopoly to trade
in opium.

(B) The city from where opium agents shipped opium to China.

On the same political outline map of India, locate and label the following items with

appropriate symbol.

%]

w



(C©)  The princely state where opium was grown without influence of British
Note : The following questions are for the visually impaired candidates only in lieu of
map question.
(27.1) Name a princely state where opium was grown without British influence.
(27.2) Name the country where opium war took place.
(27.3) Name the place in China from where opium trade was carried out.
Political Map of India
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28 (@)  fSu g wRa & eHifTR @At | (A) R (B) W 31 @& fafed fha e g = d w3
S & SR W 37 &0 & 8aH o AFreE § & f4fed W@iell W 396 98 9
fafay
(A) VTR I WhR
(B)  HrEw faum %%

(b) 3 HAfTA W Frafafea aam S S Hohd & gR SeiEd T 39 AW fafew
(Q)  HdifereR SIHEAT & BT T (2001)

A : Frfafea vo e gieartua wanfet o fog amfos o & wr e :

(28.1) STEH H U STH ATl Ueh{deh SEaMd o YR 1 91 fafa |

(28.2) A % WG Hiem fagm = &1 T fafau
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(28.3)
()

(b)

Note:

(28.1)
(28.2)
(28.3)

Hdfeeh SEEAT & S T4 ol A fafeu |

Two features (A) and (B) are shown in the political outline map of India. Identify these
tfeatures with the help of the following information and write their correct names on
the lines marked on the map.

(A)  The type of natural vegetation.

(B) A Meteorological station.

On the same political outline map of India locate and label the following feature with
appropriate symbol.

(©)  The state having highest density of population (2001)

The following questions are for the visually impaired candidates only, in lieu of
map question.

Name the type of natural vegetation found in state of Assam.

Name the famous meteorological station of Kerala.

Name the state having highest density of population.
Political Map of India
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< @ (HH TSI SeTRT ¥ )/ SECTION - B (OTBA)
(e T w1 o 5 39 v #1 4 016 76 70 % 67 ST §)

(* Please ensure that open text of the given theme is supplied with this question paper)

fowar « wgry & @ : gy o AR



Theme: Drought in Maharashtra: Issues and Implications
29 TATE ATTHT T FAT T g2 Tg el 397 | F@T a0l 7T & o0 gl aa Savardr 872 5
What is ‘Global Warming’? How far is it responsible for drought in a country?
30 ‘e ST Rafa 9% F1g 19 g a9 S §9AT U | [AASw Y6y SH 397 99T &7 5
AT Z1” A AT Fagoor Hirform)
“The need of the hour for avoiding drought like situation is rain water harvesting and
watershed management” Analyse the statement.
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